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IFEY & v HAGYU Instructions to the Candidates

1 Wﬁ%aﬁmﬁmamwﬁﬁ%mwmmﬁ%@a@w%ﬁvgmﬁm%wﬁ
S I fIATT & IFAR a2 AT FE7 ¢, ar HIIhT SFAieary Sl at W I F & S|

Candidates have been called for written test based on the data furnished by them in the online application. If
you do not possess the required qualification as per our advertisement, your candidature will be summarily
rejected.

2. Wfé’f@mgmaaﬁﬁq-g:ﬁmﬁma—gﬁﬁmu&&ﬁmmm—aﬁzﬁ%ﬁma@ﬁﬁwa
¥ ug ol

Candidates should read carefully the instructions in the Question Booklet and OMR Answer Sheet before
start answering.

3. URA-UH, 80 WeAl &F WY WRA-GREAH F ¥ A &, O Aaxor Testad ¥ qur wedd weer 1 3 v
Srae ar faeq &, ST O oo s Reey oy odr 3

The question paper is in the form of Question Booklet with 80 Objective type questions based on
the curriculum, carrying one mark each with four options indicated, out of which only one will be
unambiguously correct.

4. mﬁﬁﬁmmwaﬁfﬁ%ﬁmyﬂa&ﬁﬁ:ﬁﬁw,ﬁwmm%ﬁtﬁmwrﬁ
STell/ETell FATET & aier 9ise 9T I Il Feh Tl 3eal & ageT FeaT

Candidates have to select the right answer by darkening the corresponding bubble on the OMR answer
sheet by blue / black ball point pen only as per the instructions given in the OMR answer sheet.

5. ue qiede & o a0 w®aer W37t 39ar 71 va sAE o
Candidates should write their Name and Roll Number in the space provided in the Question Booklet.

6. U F 3caX &7 o oI AT A UF 3 vH 3R M v A Sar
A separate OMR sheet is provided for answering the questions.

3/PT.O

o3
ed



10.

1.

12.

13.

14.

15.

ﬁ\%mmwiﬁ%raﬁmﬂaﬁﬁﬂmmm%,sﬂﬁmﬁﬁﬁmﬁ@mmm

mﬁﬁmﬁaﬁaﬁaﬁ%mﬁéa%ﬁﬁaﬁmmaﬁamaﬁﬁml

As the OMR answer sheet is being machine scanned, utmost care should be taken while handling / bubbling
answers, No spare OMR sheet will be provided.

magﬁﬁ%%ﬁaﬁﬁﬁmgﬁﬁmmgﬁaﬂﬁgwwcmm)ﬁﬁmmmeﬁzﬁm

mmwf&mmmﬁm

Question Booklet Code (A/BICIDIE) printed on the top right corner should be written in the space
provided in OMR Answer Sheet.

q‘?ﬁﬂ?qﬁawﬁw%,maﬁwawﬁﬁwmm#%vo.33mﬁ1%é’rm;r

mrwﬁaﬁmmwm FHIAT ST

All questions carry one mark each, zero mark for no answer and negative 0.33 mark for a wrong answer.
Multiple answers for a question will be treated as a wrong answer.

mﬁ%mmﬁf,m@qﬂﬂ.mﬁﬁ%ﬁ?ﬂw,ww,mlm
MWﬁémﬁﬁmmﬁmﬁa@ﬂﬁaﬁmlﬁmmmmﬁﬁ%maﬁ
ﬁa@ﬂ%aﬁamﬁmwﬁwmwaﬁmaﬁ%mmamwmﬁﬁw
Wg@ﬁﬁ@mﬁé%ﬁﬁmﬁlwmﬁmaﬂ@wm#ﬁm
ﬁéeﬁﬂwﬁrﬁwﬁmma@m

Calculators, mobile phones, smart wafches, headsets, reference books, logarithm table, Camera / Spy
Camera or any other electronic gadgets will not be allowed inside the Examination Hall. If caught red hand,
they will not be permitted {0 write the exam and such OMR sheet will not be evaluated and legal action as
deemed fit will be initiated against such Candidates. Instructions in this regard, already published in our
website may strictly be followed.

o U H IUesH @nﬂﬂmmm$ﬁwmwm%l

Space available in the Question Booklet can pe used for rough work.

qﬁmmmﬂ.ﬁwmwaﬁzﬁwﬁ:&mmﬁmﬁﬁmﬁ'aﬁtﬂyaﬂmmm
aﬁt%ﬂaﬁﬁgg&m&amsuﬁ?aﬂ%qﬁfaﬁmﬁm?rmwmaﬁmmaﬁ?:tms‘é‘m
sy G atEe Ml

On completion of the written test, tear off the OMR Answer Sheet along the perforation mark at the
top and hand over the original OMR Answer Sheet to the invigilator and retain the dupiicate copy
with candidates. Utmost care should be given while tearing the OMR Sheet.

mﬁﬁmmﬁﬁ%mmmﬁﬂ@ﬁﬁﬂﬂﬁ%n

Candidates will be permitted to leave the Examination Hall only after completion of the examination.
qﬂm%aﬁ,maﬁmwmmgﬁaﬂaﬁtmﬁﬁﬁqﬂmﬁqﬁwﬁﬁqaﬂﬁm
%mwﬁﬁﬁq&%rqﬁqﬁﬂ%ﬁﬂﬁmﬁ%.mﬂﬁwmaﬂzwwﬁﬂ%ﬁmﬁmaﬁ

mmiqﬂvwﬁm%@mm%mﬁﬁwﬁﬁmﬁmmﬁﬁ%i

After the Examination, candidates should hand over OMR Answer Sheet and signed Admit Card to the
Invigilator. OMR Sheet of candidates, who have not handed over the Admit card o the invigitator, will not be
considered for evaluation. Responsibility rests with the candidate to hand over the admit card to the
invigilator without fail.

mmw%qﬁ#ﬁﬁwﬁﬁmm,mmﬁgﬁW$ﬁvﬁF&ﬁsﬁ

weet foT I El .
The guestions in English version alone will be taken as authentic though guestions are given in Hindi also for
the convenience of the candidates.
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aFaAgd @' (fwex) 1 TECHNICIAN — ‘B’ (FITTER)

FAYYT FH AFS "

Unit of Torque is

(a)
(b)
(c)
(d)

SgAT | Nis

g HeX / Nm

sgesT HITYH / Nm/s

B'Q'{Z’q’?f T ﬁé’ #AST / None of the above

What is hardness?

(a)
(b
(c)
(d)

HTETT e HTe T §IAAT / Ability to withstand impact

IR # di S &Y atear / Ability to draw into wires
TEYUT HEgeT FIeT ST &THAT / Ability to withstand abrasion
3'51?_171-'?{ P2l g aﬁé el / None of the above

U TR ST TR B 9 Wer Fher § 3R g@y e W auer =T &, gl
A Scriber which is straight pointed at one end and a flat blade at the other end is

(a)
(b)
()
(d)

qihe TREAT / Pocket scriber

Fffeee &1 BFEaR / Machinist's Scriber
gfd® TRIEET / Double end Scriber
ATH-h BHFET / Knife edge scriber

T BT T HRIETH AT el gl

Maximum value of static friction is known as

(@
(b)
(©)
(d)

Tarsf3ar 9ot / Sliding friction

IS TYUT / Dynamic friction
s 99T / Dry friction
AT =997 / Limiting friction

3 758-TN(F)



5. uw A e ST AR

How many inches is one cem? -
(a) 2.54 ® 0.6
{c) 0.39 (d) 2.45
6. 3?-+l—?— 1 Al HeTel
3 2 2
Evaluate 3?-+—]1——5—
3 2 2
2 ' 2 -

1-— b 922
(@ 13 (b) 3
(© 3 @ O

7. WMH%KWW$WWW%

The instrument used for locating center of a round job is

(a) @@ / Trammel

@) gewEEe HedT / Hermaphrodite caliper
3 (c) AR T el / Adjustable sleeve scriber

(@) dter oS wepssX / Ball head scriber

o Fret @ FlE ST FE a5 7
Which ratio is greatest among the following?
(a) 420 (b} 15:25
() 3:15 (@ 23

9. 5625 aeer Tl
Find the square root of 5625

(a) 75 by 85
() 65 (d) 55

A 4 758-TN(F)



10.

11.

12.

13.

14.

O & A AT I F IR AR § TR FAFR Tl BT S § 9 F AR F A9
widerd 9t 19 g9 99l T ga & el feART @ wuet sar §

A circular plate is cut from a square piece of sheet metal having side of ‘A’ cm. Find the
remaining percentage of sheet metal when the circle touches all the edge of the square plate.

() 35% (b)  26%
() 21.5% (d) 78.5%

I sin3(9-180)=1 &, dF ¢ & A Faw
If 5sin3(9 -180)=1, find 4.

(@) 240° (b)  180° “
© 210° @  270° v
HATH Tl TATY &7 T=AeT uar & fore fFar srar £

A plain ring gauge is used for checking

(a) <ol FT MAE sT19 / Internal diameter of bores

(b) AT ’fl)'a‘f 1 €T 59718 / External diameter of cylindrical parts
(¢) U & T / Angle of taper

(d) T& 95 & U7 U9 / Pitch diameter of screw threads

S5 are el & drer frerate garT AT St B

Clearance between mating parts is measured by

(a) &R gAY / Fixed gauge (b) TG YHTYT / Spap gauge
() 9R@r gAY / Contour gauge (d) P} YA/ Feeler gauge
eT w5 95 w1 g s EART 9ar AT e B

The pitch diameter of the external screw thread is checked by

(2) &b g AN / Screw pitch gauge

(b) 9% g YA/ Thread ring gauge |
(c) TF US APHAH / Screw thread micrometer
(d) aONR HTAYT / Vernier caliper

5 758-TN(F)




15. T A OC R i Fal ﬁr%.u%aﬁUTA.aoo%ama‘%’ABmlooﬁr%l

The height of the tower OC in the below figure is m, if angle A is 30° band AB 1s
100 m. -
C
Tower —|
_| 2A A
0 A La- 100 m —>l B
(@) 5043 &) . 10043
© 50/43 @  100/43.
16. afE 3/(2b)=2/3, @l bl A !
If 3/(2()): 2/3, then value of b is
(a) 4/9 (by 9/4
1 @ 0
17, afy e #y e ¥, o 39 s amd ZarT far S gl
If ¢ is the radius of a sphere, its surface area is given by ’
(a) 4.m r (b) 4.72.7°13
() 2.z.r° (@ 3.ar°/4
18.  dfFafii@ea &1y Bl

Reaming is the process of

() uEa ¥ o e aT O Y aRYEY BRI TH g HIAT S Enlarging the previously
drilled hole to accurate sizes

®) HW%ﬁ{f}'ﬁﬁWW*WW%ﬁ%WW@WW!EnMrgmg

the end of a hole to accommodate socket head screws

(©) m@nﬁ@@ﬁé@ﬁ%ﬁﬂ%ﬁéﬁmﬁmﬁmwaﬁwm / Smoothening and

squaring the surface around hole for the proper seating of washer

(@ ﬂ’ﬁf%ﬁ@ﬁﬂﬂ@ﬁﬁﬁﬁ%ﬁf@%ﬁ%%@ﬁﬁ@%lChamfering

the end of a hole to accommodate cheese head screw

A 6 758-TN(F)



19, T ¥ ek, w F v g ¥ e el gl duer §, 9 ———— e ¢

20.

21.

22.

23.

24.

In drilling, the distance through which the drill penetrates into the work piece in one
revelation is -

(a) ™=/ Pitch (b)  Tae =Ter / Cutting speed
(c) Wi/ Feed () HT 9 vH /RPM

ﬁwﬁmﬁ%ﬁﬂi#mw?ﬁ&mﬁm%ﬁmmgﬁﬁmﬁwﬁamm
FAT FATH §7

What is the name of the operation carried out in turning to remove burr and sharpness from
the edge of component?

() R / Grooving ® AT/ Chamfering
(c) T Zf397 / Step turning (@ % / Facing

TR (49/5) = 20, §, & y =
If (4y/5) = 20, then y =

(8) 24 by 26
( 25 @ 22

u:u=2:'1",v:w=5:7,2ﬂ%,~ w=20%, ar w T B

uw:v=27 v:w=57, if u= 20, then value of w is?

(a) 98 b)) 35

(¢ 170 d 49

wer # ol H AR ———— g B

Sum of the angle in quadrilateral is

(@ 90° by 180°

© 360° @  720°

Ay Fador g § AT R wenea afafear §, a wior o 1 9O §

If Fis frictional force and R is normal reaction, then coefficient of friction u is

(a) RI/F (b) FIR
{c0 RF d F+R

7 758-TN(F)




BT .

25.

26.

217.

28.

wm(a)%ﬁmﬁaw%ww %,zr%mﬁ%azru%ua‘aiﬁﬂ

AT v Bl -

, if initial velocity is v and

Equation of motion under uniform acceleration (a) 18
final velocity 18 U

(a) v=u-—at ) v=u+at

(@ v=ut+a’t @ v=u’+at

ﬁ@ﬁ@wwmﬁ%@.sﬁaqﬁmmmﬂﬁﬁ@%mmﬂm%,
e gl :

Inherent property of a body, which offers resistance to change in its state of rest or of uniform
motion, is called

() S5/ Inertia (b} HaaT / Momentum
() 3adr/ Impulse (d  §of /Force
WWHQM%%@,W?&?W@W@#

For a practical machine, which of the following statement is true?

(2) WMeds W, FaT 3T % o F aAe & BT &/ Mechanical advantage is same as

that of velocity ratio

(b) A T, cokCRin ¥ oy O Suer gdr ¥ / Mechanical advantage is more than

velocity ratio

(¢ dlieas o, o7 T ¥ o & HA BT ¥/ Mechanical advantage is less than

velocity ratio

(d) &Y aifrE o Td dar JeHE W AUTABA 2Idr & / Efficiency 1s the product of

mechanical advantage and velocity ratio

MWWﬁRW%&WWWqﬁ%lﬁMﬁWﬁ
ﬁl@mmﬁmmﬁ,aﬁmmw@wqﬁﬂvmm

In an electrical circuit having two equal resistance of R ohm are connected in parallel. If both
the resistance is tripled, what will be the equivalent resistance of the circuit?

(a) 2R3 ® R2
(© 3R/2 @ 2R

8 758-TN(F)




29.

30.

31.

32.

33.

34.

o & O Fud wEa &1 yiRug 310 gar 32

Which of the following contains higher percentage of carbon?

(a) 3Td HIET Tl / High carbon sfeel (b))  &aal allgl/ Cast iron

(¢) Tieal &gl / Wrought iron (dy FH e/ Mild Steel

3eq Y T 1 7AET P-ag dea g §

Main alloying element of high speed steel is

(a) A / Chromium M) df3=er / Vanadium

(¢} T / Tungsten (d) &§a / Carbon

ARTF FoARAT 3@V T (A0, AL, A2...) ¥ ofaré wd =5 &7 o —— g ¥
The ratio of length and width for standard engineering drawing sheet (A0, Al, A2...) is
(@) 12 ®  1:42

© 13 | @ 1:43

ST geaar H Hla-3 a7 fadwar gk §2

Which of the following is an independent feature in geometrical tolerance?

(a) ¥@eT / Cylindricity ()  T&AFA/ Position

(¢) ¥FEaddr/ Perpendicularity (d) Fheargar/ Concentricity

INGT F WS gt 2

Hatching in a drawing represents

(a) WRIONT TA/ Orthogonal view (b)  3iRAF T / Sectional view

(e) 379 I/ Front view (@ 83T Te¥/ Hidden view

N AERET IM@or F STAGR JEadar @ i &7 W &

Symbol for representing geometrical tolerance ‘Symmetry’ in engineering drawing is
(@ L ® /7
(¢} - d =

9 758-TN(F)



35.

36.

38.

Sohferafter 3mor 7 9 | Hehel Zafar §

7 symbol in engineering drawing represents

(a) U H gelAT ST TG &1/ Material removal not required.
(b) TETF HT T FE &1 / Material removal is required.

(c) Tl §ag gI8e 3T Bl / Smooth surface to be achieved.

(d) T weg aThN @A €1/ Rough surface to be maintained.

et & @ Fi-ar TOST 9 & e 87 : o

Which of the following is a part of a combination set?

(a) & AT / Bevel gauge
(M) TESF FeT/ Steel rule
(¢) ¥/ Stock

(d) <RI/ Turret

st &1 JFT grar 1

Size of a divider is

(a) 3MToiea &Y ﬁﬁ dq hg & Hr qﬂ' ! Distance from the point to the center of the fulerum

(o) & W& 9w Egvﬁ g ag ‘:I“ff TE T Gefer & / Distance between two legs when it is
opened fully

(¢) & 9 & v i el gfr 517 7w ol aw Gerdr & / Half of distance between two legs
when it is opened fully

(d) 39ded # & FE FE / None of the above

Th ST Bt W W P ¥ Q as 8 MY & Bwg 397 & waar & 3R QP W 4 Ay
& T a7 @ A"y 3w s 19l A o e qor gl

A person walks at a constant speed of 8 m/s along a straight line from P to Q and returns
along QP at a constant speed of 4 m/s. Average speed of the entire trip is

(a) 8.33mls : &)  6mis §
© 5.33mls (d 4mis §
10 758-TN(F) §



39.

40.

41.

42.

el aTew AgmEeT H 0.02 BT f gaeAs I §I ST AEHEACT 24.98 A AT g,
ar GEY oA & §? .

An outside micrometer has a positive error of 0.02 mm. What is the correct reading when the
micrometer measures 24,98 mm?

(a) 24.96 TAFAT/ mm (b) 25 f@HET / mm
(© 24.982 A/ mm (d  25.02 B/ mm
T YATHT F “Go” TR & S %msﬁn%"l

g

“Go” side of the plug gauge will have the diameter equal to

(a) I & FrEdTaS IR / Actual size of the job
by R F S &R / Basic size of the job
() & F seTcl#d 3R / Minimum size of the job

() FF F FEIH R / Maximum size of the job

TF T FAT fRE “Go” and “No Go” Wed T €1 31 B W g §, O $W Fer o §

A plug gauge which has its “Go” and “No Go” sizes on the same end is known as

(a) WIMAT Terd YWATAT / Progressive plug gauge

(b) EEAWIX werer WA/ Double ended plug gauge

(¢) T W T YA/ Single ended plug gauge

(d) @ad ©EeT WA / Continuous plug gauge

g & aidl & drel d-gehsl Pl IERI HEeAl §
Clogging of the metal chips between the teeth of file is

(2) HEd $T FaAfar / Fullering of file
(b) WIS $I AT / Pinning of file
(c) WISS @T T/ Warping of file
() wise $Y FRFIT/ Cracking of file

11 758-TN(F)




43.

44,

45.

46.

farely T T IS 8 ¢ oE F R HCT 67
Grade of a file is 8. What does this indicate?

(a) WIgAd W ey &1 T 8¢ § / Angle of cut on the file is 8°

(b) whIEer T A3TE 8 et & / Width of the file is 8 mm
© 10 f&d # dars 9 dfFaat & o R @ gedr 8 ¥ No. of cutting edges in rows

over a length of 10 mm is 8
(@ wEd i Fare o Al F FdT ey & "ear 8 ¥ / No. of cutting edges in rows
over entire length of the fileis 8

-

g2t & ot oy 3ifra fFar S B

Weight of the hammer is stamped on

(a) T / Cheek () %" / Face

(¢) W/ Peen (d 3§ g / Eye hole
fig de® A &I RIOT FNell g

Dot punch is having an angle of

(a) 60° by 90°

{c) 30° (dy 15°

W%Wﬁﬁmﬁ@m—mmmﬁ

In welding, which of the following statements is incorrect?

(a) WWWWH@%W@@&W?&@WW%QH@?
e Fem & / Flux helps to flow the filler material into small gap between the metal t
be joined.

(b) Wﬁ@ﬂﬁﬁﬂgﬁgﬁaﬁmﬁﬁmmmémﬁm%
Flux acts as cleaning agent to dissolve and remove impurities and dirt. :

(c) mmﬁmwmﬁmmwmmw%
Flux is a fusible chemical component applied before and during welding.

(@ Wﬁm,ww%mﬁm-m@ﬁaﬁ%ﬁmwﬁwm%

After welding, flux residues prevent corrosion of parent metal and weld deposit.

12 758-TN(!



47. aﬁéwﬁm.ﬁmﬁﬁm-msﬂﬁgﬁaﬁrﬁﬁmmﬁammmﬁ?

In welding, which of the following provides better heat distribution in electrode and job?

(a) afesa @‘HTFT?#T / Welding transformer

(b) HIET e AT / Motor generator set
(c) &oleT Siatey 8¢ / Engine generator set
(&) fesearl ¥ / Rectifier set

48. TF F ¥ FlF-ur oA 3T gl 82
Which of the following weld defect is invisible?

(a) Tic/ Spatter (b) GIEIAr/ Porositg, _
(c) wEHT A & a1/ Undercut (d)  STCeRT 3 I/ Stray are
49. wea-0fta Rafea stz o 1 gl &
is the process of making fluid-tight riveted joints.
(a) AT / Gaping (b) T / Buckling
(¢) afer / Fullering (@  WfSET / Sealing
50. RARa v smare Bal #F WEd = & o &1 T foRaT ST
is used to align the holes to be riveted.
(a) f3we / Drift (b))  =fer / Dolly
(© W&c ¥T / Rivet set (d) IR ¢ol / Caulking tool

51. M12x 1.25 % fav ¥v i3a o Reifa &t
Determine the tap drill size for M12 x 1.25.
(a) 10.0 AT / mm (b 1075 AT / mm
(© 11T/ mm (@ 13.25 AT / mm

5o Q¥ GT G A & e, Rl & & F v Reg @ ST 81 59 A A FROT E
While facing on a lathe, a Pip is left in the centre of the work piece. This defect is due to
(a) e AT HEIT 7 & 3% ¥/ The cutting speed is more than recommended

(b) IS X FE o FA ¥/ Feed rate is too low
(c) ToF WS B T u¥ FATNTSE AL § / Tool is not set to the correct center height
(@ 3IRIYEd H § F5 8 / None of the above

A 13 758-TN(F)




53.

54.

55.

56.

57.

meW%WWWa@%wa@%m

Spur gears are used for transmitting power when the axis of the shafts is

g1 B

(a) TAEAR / Parallel () g/ Angular

(c) grreesdy / Intersecting @ wFEed Perpendicular

W%%%@,%@Tﬁﬂj%ﬁa&me@ 8T &1
For a thread, vertical distance from crest to root g ——————
(a) s/ Lead @) waew [ Flank
(¢ Ta@ [ Piteh @ -%es | Depth

ﬁmcﬁaﬁaﬁ%aﬁﬁﬁrﬁaﬂmﬁmﬁmﬁﬁﬂaﬂém,__——f
%ﬁcqﬁé@ﬂﬁmm%t

When machining an irregularly shaped work piece held in face plate, counter balancing is
done

(a) T & s & & faw / to guide the tool

) TA® e ¥ 3T / to balance the tool
(@ HMET & wAT dIa 4 g F AT / to avoid vibration while machining
@) @ Eae N Hged #c & 3T / to balance the work table

ﬁmﬁﬁ%—maﬁwwma:r&ﬁm%

Which of the following turning operation increases work piece diameter?
(a) Ffeher / Knurling oy &/ Grooving
(¢ e/ Parting @ o/ Threading

wwwﬁ,ﬁw;{aﬁmomm%muareﬁgﬁo.osﬁﬁr%,mqaﬁ
amﬁmmﬁﬁﬁcmmm@ aﬁt@rmaé%#f%’.aﬁ:g@@mm
o.sfmﬁ%aﬁtﬁiﬁmsoﬂmg@mmﬁmm%

A screw gauge having a least count of 0.01 mm and a positive error of 0.03 mm i8 used to

measure the thickness of a thin sheet. What is the thickness of the sheet if the main scale
reading is 0.6 mm and the 30% division of thimble coincides with the main scale line?

(a) 0.90 mm (b) (.93 mm
(¢) 0.87mm (@ 0.80mm

14 758-TN(F.




58.

59.

60.

61.

62.

AT 3UTR Sigparst & ¥ U amEdEoT AT JET gl

In heat treatment processes, normalizing is done to

(a) FLARATAE A guR &% / Improve the machinability

(b) HUT-TIAAT F qﬁ'i’jﬁfl Fa & Telt / Refine grain structure
(¢) THORAT Sgl & AT / Increase the hardness
(d) Sll'ﬂ'{?iT &gll & ToIT / Increase the brittleness

o FERIEOT wiR & T 3aTT ARee & alareiuT # A fRT S g

In which of the following case hardening process, steel components are heated in an

atmosphere of charcoal? -
(a) WEAERET / Cyaniding () wEEEtEe / Nitriding
(c) EF@TIE%@T/ Carburizing (d) AT / Ammonizing

440 T ¥ T s B G & T o F 9T T, AR BT TS 20 m/min 1
Find out the spindle speed for turning ¢ 40 mm steel rod, if the cutting speed is 20 m/min?

() 16133 9 ¢ / rpm (b)  100.3 31 91 UH / rpm

(c) 219.3 3R df TH / rpm (@ 26133 491 TH / rpm

A 207998 Tl & B sE 2000 ¥ Rt F T ddded & aX W @PeIRd 5
aﬁ%laﬁmﬁmaﬁm(mﬁ) g9

Holes of diameter 20°%%% mm are assembled interchangeably with the pins of diameter

200 The maximum interference (in micrometer) in the assembly will be

(a) 45 ® 35
(@ 25 (d 15

fog, T EieR RTae o §, 3% g el o §1 e § s 3R 9w o
aalielm &7

A hole whose lower deviation is zero is called Basic Hole. Which one of the following letter
indicates basic hole?

(@ H ® h
0 G (d)
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63.

64.

65.

66.

67.

68.

JTdEe AT A A S 10700 & 3K 3w w su 10090 ¥ fre T weR =W 37

In an interchangeable assembly, diameter of shaft is 10°%%% and diameter of hole is 10750
What is the type of fit? .

(a) TFg e / Clearance fit (b)  HHHAUT e / Transition fit
(c) c<ATAHIOT T / Interference fit (d) ‘{_ﬁ e / Shrink fit

HOMTHS I BT & HIT H &FT F & A7 FT Torad &2

Which of the following statement is incorrect about negative rake angle?
() SIIcHAS I Tl H HIGET ARl S 9aT &/ Takes more load than a positive rake tool

(b) 3N9eTIHT Y et vd FR PBIS ofaT & / Takes heavier cuts and coarse feeds
(¢) 3T9eThd fAF=T Q91 9T I FAT & / Works with lower speeds
(d) w ABAT FEAT ATrehdl gIdT & / Has better heét conductivity

31 AfC5 & AN SRR B A W PR O 1 IEnt $ SR Seue &
FFoITCT &l

The weld defect caused by globules of metal expelled during arc welding on to the surface of
the parent metal is called

(2) ST U / Overroll (b) TTT / Spatter
(©) geFLyar / Porosity () G & HHET / Lack of penetration

AT a1 gae, Sl il & IR 93 ¢hd ¥ s v R gemn s g,
FEAT Bl

A Sheet metal operation where a useful part is removed from a larger piece of stock is

(a) GfIT / Punching (b) wifFar / Blanking
(¢) ST / Coining (d) =afer / Nibbling

Rae gl &g & e & Feean N o 1 ~geas gl Feerd ¥

The minimum distance from a rivet hole center to the nearest edge of the plate is called

(a) 3G T 3aR-9eId / Pitch (b)  @ed FIT/ Lead

() 3fcR/Margin (d) U @ S/ Lag

HleAl B Ger$ Vet & AT S & et et W ot a9 gl g
A slight curvature to the cutting edge of the chisel, to prevent digging of corners is

(a) @Ifder / Warping (b)  HIfFIT/ Caulking

() T/ Snagging (d) w3f=er / Crowning
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69. 43R & T de & T feor St @ Fes F [ ST TR ST §

is used for chipping sharp corners for making V-shaped grooves.

(a) BI¥HZ & / Diamond Chisel - (b) AT BT / Web Chisel
(¢) -9 ST / Half round Chisel () =9y ¥/ Flat chisel

70. ST S, TS G 41 F gHFS B A FA A A el ¥ AN ey aRede 9%
S ¥

Forging operation whereby the length of the metal piece is reduced and the cross sectional
area is increased is

() AT / Necking (o)) g’-ﬂﬁ?l'l Fullering
(© TE™ATAT / Finishing ()  3IARET / Upsetting

71. Sl TWRI & ITOH qEE Y FT e & A $lE-ar seug ygaFd fohar st §7?
Which product is used to check the final fit of mating tapers?

(@) @3M3E S / Layout dye (b) TGS 5 / Prussian blue
(¢) $& 3% / Penetrating dye (@ ¥ =P / Lapping compound

72. o RS 3TU AUAE TEA B H ISR HT 0T BT B

is the property of the material to withstand high temperature without fusing.

(a) Iretshedr / Conductivity (b)  "eEEar / Toughness
(¢) =TT / Reluctance (d) IT 919 eI / Refractoriness
78. W YANT BIE AW & AT FF Twsa & @C B s #
1s generally used for holding small diameter jobs.
(a) &9 929 / Bench Vice () & 9159 / Pin Vice
(¢) UISY 918Y / Pipe Vice (dy #MeT a3" / Machine Vice

4. ONE-FHIEIT AfCSIT URHAT T TETer, FoweT ler B GIEET W e eigeest Y IRA e 3aE
A g & v T anar § aur 38 s & RU adis @ deromar ¥, ———— ganar &

An operation of solid state welding process which is used to join two metal pieces by heating
them to a temperature and hammered together to join them?

(a) 3% 3fe=a / Are welding () WIS 3feEr / Forge welding
(¢) T aTET / Gas welding (@) 3798 / Upsetting
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76.

78.

79.

80.

ueF MR e C-36-M-5-S gy RAREST g1 5 319 gl
A grinding wheel is specified by C-36-M-5-S. The meaning of 5 is

(a) T F g&N / Type of bond (b)  HTIAT &7 9&IX / Type of structure

(¢ 319yl &F 9L / Type of abrasive (d) T FT HHR / Grain Size

2 Ty, U A T F FAT 20% 3 60% HWF §1 g o HEAB F AT &

Two numbers are respectively 20% and 60% more than a third number. The ratio of first two
numbers 1s

(a) 1:3 by 14

() 34 @ 31

fafdrse Uefed # FEAF FAT 87
What is the unit of specific density?

(a) @S HTIE AGT / No unit ) Kg/m?
© m3Kg (d) Kg/m?
ga-aierd h F A Hr-eemed gl

The basic working principle of hydraulic lift is
(a) &t @1 &9F / Bernoulli's law

(b) FgeeT B YA / Newton's law
(©) JeearEHyor T 3T / Law of Gravitation
() UrRe F [@gH / Pascal's law

fordy Rvs @ aer HA W Iga | g &, o9 = A FuUS @ PR S #
The velocity of a body on reaching the ground, when it is dropped from a height h is

@ +gh ®  2/gh

(c) 2gh (d) 2gh

gz Yt @ Fea F v B9 TR F 5 w1 TEeT R ST 82
Which type of blade is used for cutting curved lines?

(a) T T3 | Flexible blade (b) qoT ®B =I5 / All-hard blade
(¢) THMNGT i3 / Adjustable blade () afhd &8 / Curved blade
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